] -
WM A| HE=0O]E

20234 (September-192|(2 )

Hf = 0| E{ Barometre,
2 OH A K|



j -

i
1

o
o
o
o

EE%
=
E=
=

i
t

QIOHMX| HIZ0|E]

M Al HI=0IH index

EIN Ly
. . || BEE=HE Q2% E 0|85 lal 2023'4 o
2k 18M| 0| CHHl=0l 713=5H= 1003E(71=51003F) 6/7/8% F3} AHESEH HIAM O 2 AlA| &
HE KL
—?—ﬂ’.‘iﬁr RDDO{| A o Al a N
18H[0|AF SHXIES CFES 2 Q= ‘}k 95% AE|4FE +3.1%EQIE
XY, 4, dd H 0= gode
- sociodémographiques(’i 21 2| sex , A &H); SuE
- géographiques(X| &). S
=7t MQ J|= o 14 41210 3 & OF A & @ 2.0%
VB HE I7|E 22023 42T HYQANME )
FOIS 2Ol RO/ HIE Y(HTIIE)

— LIPHMR| . September 2023



] -

'] ||:HE
24
=3d 3K K=



tHsd =8XIXl=

Q.S

NeE g0l HSE22N =E 2 S ot ATt H=26taLre
OtLIe &%t 2

==
UCHD 26k LIt @82 2018 Y LICH

3.4(+
1

16.5(+1.1)

(EIFZA} CHH

LIONMA| BIZ0[E 79 RN | — : September 2023




2 | Bu2dx Xz xol

&

)

TEX =2 EF0l= LAHMK0| A =HelbtE



dd2d &8 = 8X[Klg F0

602 614 619

58.7 58 >8.2 57.4 571 57.3 58.6

O|™ Lj8LS UMMK| (http://www.rnch.co.kr) Of| A ZtQlttzt

LMW A| HIZO|E 379K |R|& - : September 2023



http://www/




on

10

Ot
Ral
&2
rir
iml

\
' 24.7

LIOHMA| HIEZD|E{ — : September 2023

53.3

(%)







13.4

° ® . ° o ° o » 449~ * 154, °
° 12.5 14.2 ;11 2 13.6 ° 12.3 . 11 14.3 13,9 ° 12.5 13.6 14 ° 12.8 14.3 [ 13.3 . 11.4 .12.6
——— —0- e —— — O —=C .—-‘—._ e w— Ah-‘-._.---_‘--—.—-_".‘ —— O
1#(58) 25 3F 4% 5F(68) 62| 73] 82| 93|(78) 102 11%] 123 132 142](83) 152 162 172l 182/(98) 192

O™ L§82 LOMHMXK| (http://www.rnch.co.kr) Ol A] =HQIH}ZH

LIOHMA| HIEZD|E{ — : September 2023



http://www/

20 "W"} ' I SA®



X0
|r
i
0lo

KH

ZAgtR

H| &
(100)

H| & At &

(100)

A=
(1003)

(1.0)

(1003)

12.8 165 16.5 1.3

128

18AM| O] 420CH

0.9

15.1

151

16.4

164

30CH

— — — (@]
00) LN — )
N~ (@) — (@))]
— — (98] <t
(®))] O (qV| N~
N~ (@) — (@))]
— — ™ <t
O — — O
o0} (@) Al o
— (V] on LN
N~ Al A 0]
00} (@) Al o
— (QV| (98] LN
0
TT3
== ==
< 1n
< LN S
O
™
_._._o 70
Bl <

1.1

50.4

506

46.4

465

0.9

18.7

188

21.2

213

1.1

31.9

320

30.2

303

1.1

10.6

106

9.6

96

1.0

4.1

41

4.4

44

K-

~
od
N0

1.1

15.0

151

14.2

142

98 oK) i 1.0

L)

ti/8=

0.9

9.8

98

10.6

106



-
AT

A

/2%

Bl
18A|0]&20CH
30CH
40CH
50cH
60A|0] &
oy |
18M[0] &20CH
3oL
40ty
50cH
60A|0] &
24
18M[0] &20CH
3oL
40cH
50CH
60M| 0] A
|
18M[0] &20CH
30cH
40cCH
50CH
60A| 0] A
|
18XM[0] &20CH
30CH
40cH
50cH
60A|0] &
|
18XM[0] &20CH
3ocH
40cH
50cH
60A|0] &
|
18| 0] &+20CH
3ocH
40CH
50CH
60A|0] &
|
18| 0] &+20CH
30CH
40cCH
50cH
604 0] &

A
(1003)
128
164
187
202
322
(213)
44
44
34
35
56
(303)
35
49
64
65
90
(96)

12
20
21
34
(44)

10
17
(142)

(106)

24
17
20
37

ZAL 22 At

=Xt
(538)
80
110
9%
102
150
117)
27
30
17
17
26
(166)
23
34
33
33
43
(51)
6
8
10
11

i}
(465)
48
54
91
100
172
(96)
17
14
17
18
30
(137)
12
15
31
32
47
(45)

10
10
18

(19)

rouoNouwrn =3

A
(1003)
165
151
179
196
312
(188)
35
32
32
34
55
(320)
55
52
63
64
86
(106)

(151)

7524 HE 7|&F Al =
Xt
(497)

86
78
91
99
143
91)
17
16
16
17
25
(160)
29
27
32
32
40
(54)
9
8
10
11
16
(20)

AW ww

Of X}
(506)
79
73
88
97
169
97)
18
16
16
17
30
(160)
26
25
31
32
46
(52)

10
18
(21)

oo~ W w



1) #oPAIM = SR T

0jo

d9E 0= 8= XXt LT? 2 F2 T2 = LICt

X X5t 8

ZA 7tsa
etz HE H=0] RIFE =09 & Holg 7|EpE S XNX8Y s
Ak == Ak ==
% % % % %
A (1003) (1003) 449 37.0 2.3 32 11.8
18| O|&f 20CH 128 165 404 26.0 5.2 6.1 22.4
30CH 164 151 440 374 2.2 1.1 14.7
il 40CH 187 179 59.2 25.8 1.6 3.8 9.6
50CH 202 196 55.3 324 1.9 15 83
60A| Of & 322 312 32.7 52.0 1.6 34 8.3
" =g 538 497 45.1 37.8 24 2.7 114
ofd 465 506 44.6 36.2 2.3 3.7 12.2
ME 213 188 440 389 32 2.3 11.7
47(/21d 303 320 46.8 386 1.7 13 10.5
W/ SH/ME 9% 106 346 46.0 1.0 8.6 8.0
N /M F 44 41 444 28.6 73 45 15.2
FL/2L8H 142 151 428 39.3 29 2.0 13.0
/85 99 99 36.2 38.6 1.0 5.3 16.9
HM/EdF/HS 106 98 63.8 17.0 2.3 48 12.1
B 287 285 243 64.3 1.9 35 5.7
—— sc 389 386 455 359 15 14 15.4
e 236 239 77.8 76 47 2.8 6.7
T nE 91 93 214 33.1 1.0 10.9 28.6

i
]



25HAILIDE? OFLIS! R25HD UCHD M2ABHALITL? EBIS ZEI0IALICH

SR SPNPNE =
EN 7=k px
ad 25 esia U o2 sie H ol e o o it s9 =23
Ab == Ab| == > == =
% % % % % % %
HA| (1003) (1003) 476 104 58.0 16.5 22.1 386 34
18M|0| &k 20CH 128 165 55.2 14.6 69.8 10.5 11.2 217 8.5
30CH 164 151 487 79 56.6 17.1 25.1 422 13
= 40CH 187 179 64 8.6 72.6 8.7 16.6 253 2.1
50LH 202 196 53.8 10.3 64.1 10 244 344 14
60 0] & 322 312 29.6 105 40.1 27.9 28.1 56 3.8
" =24 538 497 496 9.9 59.5 15.5 226 38.1 2.5
o
ol 465 506 458 10.9 56.7 17.4 215 389 44
Me 213 188 46.1 10.7 56.8 16.3 239 40.2 3.0
47|/eH 303 320 50.3 9.8 60.1 14.6 225 37.1 2.8
& /ZH/ME 9% 106 377 3.7 414 20.6 312 51.8 6.7
X9 Z/H = 44 41 54.3 6 60.3 219 17.9 39.8 -
228 142 151 474 11.5 58.9 17.9 17.6 35.5 5.6
/8= 99 99 424 12 54.4 15.4 26 414 42
HE/gF/A= 106 98 55.6 17.8 734 14.8 119 26.7 -
HEo oY 456 450 80.7 13.6 94.3 22 2.8 5 0.7
=2l &l 375 371 54 5.8 11.2 36 51.2 87.2 1.6
S— psfell= 22 23 59.5 94 68.9 8.1 13.1 212 10.0
= 8
7|ErE S 29 32 28.5 8.7 37.2 23.7 18 417 21.1
XXEE els 113 119 58.6 13.1 71.7 74 8.4 15.8 12.5
Aoz 8 8 25.1 13 38.1 38 - 38 239
EES 287 285 285 8.7 372 243 36.8 61.1 17
———— s 389 386 52 8.7 60.7 17.7 20.5 382 1.2
] 236 239 717 12.6 843 49 8.8 13.7 19
o= 91 93 264 17.2 436 17 17.6 346 218



3) ASHHA= A0 &2 1 Ao IH=AS IS RSot=s A2 QST E AActs 22t O UHGHH HE N M2 LI

ZAb 7v=sek
2= e Sootct S2| x| %=Lt Z2RE
Aredl == Atedl ==
% % %
A (1003) (1003) 53.3 247 22.0
18M0] & 20CH 128 165 55.3 16.7 28.0
30CH 164 151 60.6 18.1 213
ks 40CH 187 179 54.5 26.2 19.3
50CH 202 196 476 34.6 17.8
60A| O] & 322 312 51.6 25.0 235
v g4 538 497 57.0 243 18.8
© ol o 465 506 49.7 25.1 253
M2 213 188 53.5 30.1 16.4
a7/ 303 320 60.8 20.6 18.6
/s H/ME 96 106 487 24.8 26.6
X9 /M F 44 41 495 25.8 24.7
228/ 8E 142 151 453 29.8 25.0
/8= 99 99 47.0 25.7 27.2
/35 106 98 53.5 18.2 28.2
o0l 456 450 463 314 22.4
=0l & 375 371 65.0 18.2 16.7
x|x|SHe golg 22 23 472 37.8 15.1
7|EpEE 29 32 215 214 57.0
XNXE = 113 119 53.9 17.7 284
agE 8 8 38.5 26.2 354
238 583 582 472 31.3 214
T823F 9 390 387 64.8 15.9 19.3
2 RE 30 34 26.4 114 62.2
H 287 285 56.5 23.6 20.0
K| A5t e 389 386 59.5 24.8 15.7
Tl 236 239 47.0 26.0 26.9

HEE 91 93 33.8 243 41.8



4)Tote| X g2 tg T Ol F0i| o 7HACH A5t Lt

grd
Z=A B
gt NHE He 3k ] ZoE
At = Al =
% % % %
A (1003)  (1003) 28.5 38.5 23.8 9.3
18A0] & 20CH 128 165 26.9 32,5 29.2 11.4
30CH 164 151 27.1 46.4 229 3.6
Vil 40CH 187 179 25.7 389 29.4 5.9
50CH 202 196 229 410 287 74
604 0] & 322 312 35.1 359 14.9 14.1
A =k 538 497 308 403 22.1 6.8
ofd 465 506 26.1 36.7 25.5 11.7
ME 213 188 29.4 417 22.0 6.9
371/9#H 303 320 26.8 40.5 23.6 9.1
E/s™H/ME 9 106 31.2 38.1 18.4 12.3
X9 ZE/HFE 44 41 25.2 386 22.2 14.0
FiEgL/d'E 142 151 283 403 233 8.1
/8= 99 99 39.0 29.1 23.0 8.9
de/2F/ds 106 98 20.0 325 36.0 11.5
HEojuxd 456 450 15.4 39.0 412 44
=29l g 375 371 49.4 374 49 8.3
X|X|he e Hojct 22 23 23.5 24.5 480 3.9
7|EPEE 29 32 31.2 16.9 20.4 315
XxES s 113 119 13.7 50.2 13.6 22.5
ZERE 8 8 12.5 13.0 13.0 61.5



